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Review from last unit
27. Solveforx. Jx-10+bx-16+ Ex-5=1§0
2lx -39=180

ZiX = u°
Answer X=10
28. In the figure to the right, AABC ~ ADEF. F
Wt at do x and y equal? 5 b .
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29. Given B is between A and C, AB = 2x +9, BC = 4x — 7, and AC = 38. Find BC.
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30. Write the equation of the parabola in the graph below. The vertex is at (11, 18).
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31. Meg is building a garden up against one side of her house. She has 150 feet of fencing. Find the dimensions of the
dog's pen to maximize the area. 50-2¥ p[ 3 Lw = d Ma)ﬂ O\ L
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35. y=-1/3C(x) Verhca! (‘;7(&,\‘;5{‘(55'°’_5,‘l6_ y
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C=x) (o€ fect o

For each of the followirg, list the effect on the graph of Cardio, C(x), shown below. Then graph the new function.
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